RGBS A X [P HEiR)

103950 IN3OH %HB/MR 0.1 400x1200 +0.10 H18 | BRIER 0.13| ==L 38 35.0
103950 IN3OH /MR 0.15 400x1200 +0.10 H18 | BRIELE 0.200| E=—#L 26 35.0
103950 IN3OH $Hmagqnr  (HM) 0.03 500X500M +0.10 H18 AR 203 ez—nnmL 1 20.3
103950 IN3OH %Ea4qiL  (0O#) 0.03 500X500M +0.10 0 AR 203| tz—nnmL 1 20.3
103950 IN3OH %Ea4qL  (H#) 0.05 500X400M +0.10 H18 | BRIELE 271 =il 1 27.1
103950 IN3OH %Ea4qiL  (0O#) 0.05 500X400M +0.10 0 AR ERE 27.1| e=Z—r#L 1 27.1
103950 IN3OH $Hagnr  (HM) 0.1 500X250M +0.10 H18 R 339 =L 1 33.9
103950 IN3OH a4  (O#) 0.1 500X250M +0.10 0 AEEE 339 tZ—iLAiL 1 33.9
105021 1050/ (H24 - MF) 0.3 400x1200 +0.04 H24 | BREIERE 0394 e=—nnL | 130 51.2
105021 1050/ (H24 - MF) 0.4 400x1200 +0.04 H24 | BREIELE 0523 e=—anL | 100 52.3
105021 1050/ (H24 - MF) 0.5 400x1200 +0.04 H24 | BREIERE 0.653| E=—i#L 80 52.2
105153 | #A 10504 (H24) 1x2 0.8 1000x2000 +0.06 H24 | BREIELE 4360 N—L—># | — —
105153 | #A 10504 (H24) 1x2 1 1000x2000 +0.08 H24 | BREIERE 5.440| N—L—v#t | — —
105153 | #A 10504 (H24) 1x2 1.5 1000x2000 +0.10 H24 | BREIELE 8.160| N—L—># | — —
105153 | #A 10504 (H24) 1x2 2 1000x2000 +0.10 H24 | SREERE 10.880 o 44 — —
105153 | #A 10504k (H24) 1x2 3 1000x2000 +0.13 H24 | BREIELE 16.320 R E — —
110040 11004k (H14) 1x2 1.5 1000x2000 +0.10 H14 | SREERE 8.160| t=—i#L 8 65.3
110040 1100#) (H14) 1x2 2 1000x2000 +0.10 H14 | BREIELE 10.880| £ =—1AL 6 65.3
110041 1100#)k (H14) 4x8 1 1250x2500 +0.08 H14 | SREEE 8.500| E=—i#L 8 68.0
110041 1100#k (H14) 4x8 1.2 1250x2500 +0.10 H14 | BREELZE 10219 e=—n#iL 7 71.5
110041 1100#)k (H14) 4x8 1.5 1250x2500 +0.10 H14 | AREL 12.750| £=—n#%iL 5 63.8
110041 1100#k (H14) 4x8 2 1250x2500 +0.10 H14 | BREELZE 17.000| £=—1n#%iL 4 68.0
110041 1100#)k (H14) 4x8 2.5 1250x2500 +0.13 H14 | AREL 21.250| E=—L#L 3 63.8
110041 1100#k (H14) 4x8 3 1250x2500 +0.13 H14 | BREELZE 25500 E=—L#L 3 76.5
110032 1100#)k (H14) 1x3 1 1000x3000 +0.08 H14 | AREL 8.1l e-o—nnmL 8 64.8
110032 11008k (H14) 1x3 1.5 1000x3000 +0.10 H14 | BREELZE 122| e=—n%kL 5 61.0
110032 1100#)k (H14) 1x3 2 1000x3000 +0.10 H14 | BREELE 163 e=—nxL 4 65.2
110081 1100/ (H24) 0.6 400x1200 +0.04 H24 | BRIELE 0.787| E=—t L 65 51.2
110081 1100/ (H24) 0.7 400x1200 +0.04 H24 | BREIELE 0917 E=—r#iL 55 50.4
110081 1100/ (H24) 0.8 400x1200 +0.05 H24 | BRIELE 1.046| b=—nimL 50 52.3




RGBS A X [P HEiR)

110081 1100/ (H24) 1 400x1200 +0.05 H24 | ARIEE 1.306| bo—nnmL 40 52.2
110081 1100/ (H24) 1.2 400x1200 +0.06 H24 | BREIELE 1.570| =—1%iL 35 55.0
110081 1100/ (H24) 1.5 400x1200 +0.06 H24 | ARIEE 1.958] v=—nimL 28 54.8
110081 1100/ (H24) 1.6 400x1200 +0.06 H24 | BREIELE 2.003| ==L 25 52.3
110081 1100/ (H24) 2 400x1200 +0.08 H24 R EAE 2611 e=—n#iL 20 52.2
110081 1100/ (H24) 2.5 400x1200 +0.09 H24 | BREIELE 3.264| E=—L#L 16 52.2
110081 1100/ (H24) 3 400x1200 +0.11 H24 R EAE 3.917| e=—#iL 14 54.8
110081 1100/MR (H24) 4 400x1200 +0.15 H24 | BREIELE 5.222| E=—L%L 10 52.2
110036 11008 (H24) 1x2 0.3 1000x2000 +0.05 H24 | BREIERE 1.640| ==L 40 65.6
110036 1100#k (H24) 1x2 0.4 1000x2000 +0.05 H24 | BREIELE 2.180| E=—#L 30 65.4
110036 1100# (H24) 1x2 0.5 1000x2000 +0.06 H24 | BREIERE 2720 ==L 25 68.0
110036 1100# (H24) 1x2 0.6 1000x2000 +0.06 H24 | BREIELE 3.280| E=—#L 20 65.6
110036 1100#)k (H24) 1x2 0.8 1000x2000 +0.06 H24 | BREIERE 4360 E=—#L 15 65.4
110036 1100# (H24) 1x2 1 1000x2000 +0.08 H24 | BREIELE 3.280| E=—#L 12 39.4
110036 1100#)k (H24) 1x2 1.2 1000x2000 +0.10 H24 | SREERE 6.540| E=—L%L 10 65.4
110036 1100# (H24) 1x2 1.5 1000x2000 +0.10 H24 | BREIELE 8.160| t=—i#L 8 65.3
110036 1100#)k (H24) 1x2 1.6 1000x2000 +0.10 H24 | BREIERE 8.720| b=—Lr#L 7 61.0
110036 1100# (H24) 1x2 2 1000x2000 +0.10 H24 | BREIELE 10.880| £ =—1AL 6 65.3
110036 1100#)k (H24) 1x2 2.5 1000x2000 +0.13 H24 | SREIERE 13.600| £=—1L7%iL 5 68.0
110036 11008 (H24) 1x2 3 1000x2000 +0.13 H24 | BREIELRE 16.320| £=—1LAL 4 65.3
110036 1100#)k (H24) 1x2 4 1000x2000 +0.20 H24 | AREL 21.760| E=—L#L 3 65.3
110036 1100# (H24) 1x2 5 1000x2000 +0.23 H24 | BREIELE 27200 E=—L#L 2 54.4
110039 1100#)k (H24) 4x8 4 1250x2500 +0.20 H24 | AREL 34.000| E=—L#iL 2 68.0
110039 1100# (H24) 4x8 5 1250x2500 +0.25 H24 | BREIELRE 42500 E=—L#L 2 85.0
110072 1100/ (O#) 0.4 400x1200 +0.04 0 R 0523 e=—nnL | 100 52.3
110072 1100/ (O#) 0.5 400x1200 +0.04 0 AT EHE 0.653| E=—#L 80 52.2
110072 1100/ (O#) 0.6 400x1200 +0.04 0 7T ERE 0.787| E=—r#iL 65 51.2
110072 1100/ (O#) 0.7 400x1200 +0.04 0 TR HE 0.917| t=—nrnL 55 50.4
110072 1100/ (O#) 0.8 400x1200 +0.05 0 7T ERE 1.046| =—17%iL 50 52.3
110072 1100/ (O#) 1 400x1200 +0.05 0 TR HE 1.306| E=—7%iL 40 52.2




RGBS A X [P HEiR)

110072 1100/ (O#) 1.2 400x1200 +0.06 0 A EEE 1570 E=—n#L 35 55.0
110072 1100/ (O#) 1.5 400x1200 +0.06 0 A TEERE 1.958| E=—t L 28 54.8
110072 11000k (O%) 2 400x1200 +0.08 0 AR 2611 ez—nnmL 20 52.2
110072 1100/ (O#) 3 400x1200 +0.11 0 A TEERE 3.917| e=—nr#nL 14 54.8
110035 11004k (O#) 1x2 0.5 1000x2000 +£0.06 0 AEEE 2720 e=—n#L 25 68.0
110035 11004 (O#) 1x2 0.6 1000x2000 +0.06 0 AR ERE 3.280| E=—#HL 20 65.6
110035 11004k (O#) 1x2 0.8 1000x2000 +0.06 0 AR 4360 ==L 15 65.4
110035 11004 (O#) 1x2 1 1000x2000 +0.08 0 AT 5.440 E=—L#L 12 65.3
110035 11004 (O#) 1x2 1.2 1000x2000 +0.10 0 AR 6.540| E=—L% L 10 65.4
110035 11004 (O#) 1x2 1.5 1000x2000 +0.10 0 AT EHE 8.160| t=—r#L 8 65.3
110035 11004 (O#) 1x2 2 1000x2000 +0.10 0 A 10.880| £ =—i7AL 6 65.3
110035 11004 (O#) 1x2 2.5 1000x2000 +0.13 0 AR ERE 13.600| £=—1AL 5 68.0
110035 11004 (O#) 1x2 3 1000x2000 +0.13 0 R 16.320| £=—17%iL 4 65.3
110033 | B27A~A bR (H14) 1x2 1 1000x2000 +0.08 H14 | BREIELE 5.440| FEE=—L | 12 65.3
110033 | B27~wA FR (H14) 1x2 1.2 1000x2000 +0.10 H14 | SREERE 6.540| FEE=—1L | 10 65.4
110033 | B27A~A rR (H14) 1x2 1.5 1000x2000 +0.10 H14 | BREIELE 8.160| FEE=—/ 8 65.3
110033 | B27i~wA FR (H14) 1x2 2 1000x2000 +0.10 H14 | SREERE 10.880| FEE=—L 6 65.3
110033 | B27A~A rR (H14) 1x2 2.5 1000x2000 +0.13 H14 | BREIELE 13.600| FEE=—1L 5 68.0
110033 | B27~wA FR (H14) 1x2 3 1000x2000 +0.13 H14 | SREEE 16.320| FEE=—1 4 65.3
110034 | B27iA<vA bR (H14) 4x8 1 1250x2500 +0.08 H14 | BREELZE 8.500| FEE=—/ 8 68.0
110034 | B27i~A FR (H14) 4x8 1.2 1250x2500 +0.10 H14 | AREL 10.219| FEE=—1 7 715
110034 | B27A<vA bR (H14) 4x8 1.5 1250x2500 +0.10 H14 | BREELZE 12.750| FEE=—1L 5 63.8
110034 | B27i~A FR (H14) 4x8 2 1250x2500 +0.10 H14 | AREL 17.000| FEE=—L 4 68.0
110034 | B27A<vA bR (H14) 4x8 2.5 1250x2500 +0.13 H14 | BREELZE 21.250| FEE=—/IL 3 63.8
110034 | B27i~A FR (H14) 4x8 3 1250x2500 +0.13 H14 | AREL 25500 FEE=—L 3 76.5
110022 | B27A~vA bR (H14) 1x3 1 1000x3000 +0.08 H14 | BREELZE 8.100| FEE=—/ 8 64.8
110022 | B27i~A FR (H14) 1x3 1.5 1000x3000 +0.10 H14 | BREELE 12.200| FEE=—L 5 61.0
110022 | B27<vA bR (H14) 1x3 2 1000x3000 +0.10 H14 | BREELZE 16.200| fFEE=—L 4 64.8
110083 | B27.~A FR (H24) 1x2 4 1000x2000 +0.20 H24 | BREIELE 21.760| FEIE=—1L 3 65.3




RGBS A X [P HEiR)

152018 52SHk (H32) 1x2 1 1000x2000 +0.08 H32 AT ERE 5.380| E=—iAL 12 64.6
152018 52SHlkR (H32) 1x2 1.2 1000x2000 +0.10 H32 AT ERE 6.460| £=—7A&L 10 64.6
152018 52SHk (H32) 1x2 15 1000x2000 +0.10 H32 AT ERE 8.080| =Z—u#L 8 64.6
152018 52SHlkR (H32) 1x2 1.6 1000x2000 +0.10 H32 AT ERE 8.620| =—i#L 7 60.3
152018 52S#k (H32) 1x2 2 1000x2000 +0.10 H32 AR 10.760| E=—ur#L 6 64.6
152018 528tk (H32) 1x2 2.5 1000x2000 +0.13 H32 AT ERE 13.460| E=—7lL 5 67.3
152018 52S#k (H32) 1x2 3 1000x2000 +0.13 H32 AR 16.140| E=—nr#L 4 64.6
152018 528tk (H32) 1x2 4 1000x2000 +0.20 H32 AT ERE 21520 E=—7i L 3 64.6
152018 52S#k (H32) 1x2 5 1000x2000 +0.25 H32 AR 26.900| E=—iiL 2 53.8
152004 52S#Kk (H32) 4x38 1 1250x2500 +0.10 H32 AT ERE 8.406| E=—nA&L 12 100.9
152004 52S#Kk (H32) 4x38 1.2 1250x2500 +0.13 H32 AT ERE 10.094| E=—nr#L 7 70.7
152004 52S#Kk (H32) 4x38 15 1250x2500 +0.13 H32 A ERE 12.625| e=—7%L 5 63.1
152004 52S#HKk (H32) 4x38 2 1250x2500 +0.13 H32 AT EE 16.813| E=—i#L 4 67.3
152004 52SH#Kk (H32) 4x38 2.5 1250x2500 +0.13 H32 A ERE 21.031| e=—7iL 5 105.2
152004 52S#k (H32) 4x38 3 1250x2500 +0.13 H32 AT EE 25219 E=—iL 3 75.7
152004 52S#Kk (H32) 4x38 4 1250x2500 +0.20 H32 A ERE 33.625| E=—i7iL 2 67.3
152004 52S#HKk (H32) 4x38 5 1250x2500 +0.25 H32 AR 42.031| E=—iL 2 84.1
152003 52SHKk (H34) 1x2 0.4 1000x2000 +0.06 H34 A ERE 2.160| ==L 30 64.8
152003 52SHKk (H34) 1x2 0.5 1000x2000 +0.06 H34 AR 2.690| E=—nr#L 25 67.3
152003 52SHKk (H34) 1x2 0.6 1000x2000 +0.06 H34 mEEE 3.240| ==L 20 64.8
152003 52S#k (H34) 1x2 0.8 1000x2000 +0.06 H34 AR 4304 e=—r#L 15 64.6
152003 52SHKk (H34) 1x2 1 1000x2000 +0.08 H34 mEEE 5.380| £=—iA&L 12 64.6
152003 52StHk (H34) 1x2 1.2 1000x2000 +0.10 H34 AT ERE 6.456| £=—LA&L 10 64.6
152003 52SHKk (H34) 1x2 15 1000x2000 +0.10 H34 mEEE 8.070| E=—i#L 8 64.6
152003 52StHk (H34) 1x2 1.6 1.6x1000x2000 +0.10 H34 AT ERE 8.610| =—ir#L 7 60.3
152003 52SHKk (H34) 1x2 2 1000x2000 +0.10 H34 mEEE 10.760| E=—17#L 6 64.6
152003 52SH#k (H34) 1x2 2.5 1000x2000 +0.13 H34 A TEEE 13.450| E=—#L 5 67.3
152003 52SHKk (H34) 1x2 3 1000x2000 +0.13 H34 AT ERE 16.140| e=—r#L 4 64.6
152003 52SH#k (H34) 1x2 3.2 1000x2000 +0.13 H34 AR 17.216| e=—r#L — —
152003 52SHKk (H34) 1x2 4 1000x2000 +0.20 H34 AT ERE 21520 Ez—iiaL 3 64.6




RGBS A X [P HEiR)

152003 52SH (H34) 1x2 5 1000x2000 +0.25 H34 | ARIELE 26.900| E=—iL 2 53.8
152003 52S#k (H34) 1x2 6 1000x2000 +0.28 H34 | BRIELE 32.280 o] — —
152003 52SH (H34) 1x2 6 6x1000x2000 +0.28 H34 | ARIELE 32.280| E=—#iL 2 64.6
152017 52SHk (OF) 1x2 1 1000x2000 +0.08 0 A TEERE 5.380| E=—#L 12 64.6
152017 52S#Hk (OF) 1x2 1.5 1000x2000 +0.10 0 AR 8.080| t=—i#L 8 64.6
152017 52 SHk (O#) 1x2 2 1000x2000 +0.10 0 AR ERE 10.760| E=—7iL 6 64.6
152017 52S#Hk (OF) 1x2 3 1000x2000 +0.13 0 AR 16.140| ==L 4 64.6
152153 | #A52SH (H32) 1x2 1 1000x2000 +0.08 H32 | BREIELE 5380 Nn—L—># | — —
152153 | #A52SH, (H32) 1x2 2 1000x2000 +0.10 H32 | SREELZE 10.760| N—L—># | — —
152153 | #A52SH (H32) 1x2 3 1000x2000 +0.13 H32 | BREIELE 16.140| ~—L—># | — —
152203 52 Stk 1x2 3 1000x2000 +0.23 H112 | BREERE 17.200| £=—n7%iL — —
152203 52SHtk 1x2 3.5 1000x2000 +0.23 H112 | ZhREERE 20.100| E=—L#L — —
152203 52SHEtk 1x2 4.5 1000x2000 +0.28 H112 | ZhREERE 25.200| E=—L#L — —
152204 52S#Eik 4 x8 2 1219x2438 +0.15 H112 | ZhREERE 18.010| t=—#AL — —
152204 52SHEtk 4 x8 2.5 1219x2438 +0.18 H112 | ZhREERE 22.022| E=—L#L — —
152204 52S#Eik 4 x8 3 1219x2438 +0.18 H112 | ZhREERE 25.618| E=—i#iL — —
152204 52SHEtk 4 x8 35 1219x2438 +0.18 H112 | ZhREERE 20.898| b= —i#L — —
152204 52S#Eik 4 x8 4.5 1219x2438 +0.28 H112 | ZhREERE 37506 E=—L#L — —
152204 52S#Etk 4 x8 6 1219x2438 +0.28 H112 | ZhREERE 49.806| E=—iL#L — —




